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CED Translate words into an equation

Write an expression to represent the following.

1. m squared plus the product of 2 and h plus 3

M o ZLRERY e b2kl

2. 9lessthank
\¢~¢
3. One-fifth of gis added to the product of 2 and h
\
c9* Zh

Write a sentence to represent the following expressions.

- ‘ ' '
'Fw{ o 1haa NAile & N am Oer

10
Lo tS
: F;}’h ‘jh w i L‘;f ¢ ( rés ‘J“*” b‘j (l)'\-q ;t L !l 6\ i . “CA
g -L
Li
3 +¥\Q & U.,D‘ "'éu‘ , ®, of | A li £ “i! v ( i Ly C?\‘I“\‘[:){ ("J‘ P
XL
7
4 "“\Q \\.Cfﬂ('- “ir g{,d*ﬁ.‘.wt.. ,-\_\_;v':‘- O l\\l“:l‘{t $4h A



CED Translate words into an equation

Create an algebraic equation or inequality to match each phrase.

The difference of five and a number is the same as seven times the sum of that number and three.

S-X = '?(Xf-?)

Five times the difference of a number and four is the same as negative five times the difference of that

number and two.

¢ (%y) = -c(x-2)

Four times the difference of twice a number and five is greater than 52.

U(2x-5) Y52

The sum of fourteen and a number is greater than the difference between three times a

number and one.

|UEX D 3 x|

Negative two times a number is the same as the sum of eight and a number multiplied by two.

—2¢X= §4+2x

Negative one times the difference of three and a number is equal to the sum of negative one
and three times a number.

~1(3-%) = =|+3x



CED Translate words into an equation

Extra Practice

1. The difference between negative five and nine times a number is equal to the sum of negative
three times the number and thirteen.

=S =Ay = ~Txeend

2. One-fourth times the difference of eight times a number and twelve is less than or equal to one-
fifth times the difference of twenty-five times the number and sixty.

5 (8x-12)¢ L (26x - o)

3. One-half the sum of ten times a number and eight is the same as one-sixth the sum of forty-
eight and eighteen times the number.

_LL( lox +§) = -é (yg + t%x}

4. Seven less than negative five times a number is less than or equal to six more than that
————————,

same number.

-Cx-F £ X+l



